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http://www.craftcookie.com/knitting-stitches/knit-purl-stitches/141-button-in-a-square

Multiple of 10 + edging stitches on both sides
Knitting Needles 3.0 mm
Yarn ~ 100% cotton Category 4
Size:
7" x T V2" appx
1set[12 rows] =1 %"
4 rows = %"
No top/bottom borders, just cast on row and bind off row

BUTTON IN A SQUARE DISHCLOTH PATTERN

Cast on 36 stitches

Pattern:

Row 1 [RS]: K3, *ki, p8, k1%, repeat from * to* 2 more times, K3 [bottom of box]
Row 2 [WS]: K3, *pl, k8, pl1*; repeat from *to * 2 more times, K3 [bottom of box]

Row 3,5 & 7 [RS]: K3, *ki, p2, k4, p2, k1*; repeat from *to* 2 more times, K3 [center of box]
Rows 4, 6 & 8 [WS]: K3, *pl, k2, p4, k2, p1*; repeat from *to* 2 more times, K3 [center of box]

Row 9 [RS]: Same as row 3 [top of box]
Row 10 [WS]: Same as row 4 [top of box]
Row 11 [RS]: K3, knit across, K3 [dividing line]
Row 12 [WS]: K3, purl across, K3 [dividing line]

Repeat rows 1-12 three times more and then rows 1-10 [Total 4 Sets of 1-12 rows and then rows
1-10]

Bind off using knit method.

Example Row 5:
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